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(Maths) gc*è

'''''ìX = Cosec A ìA$ Z¤/ .1

(B) (A)

(D) (C)

.2

2 (B) 0  (A)

3 (D) 1 (C)

............ = 0.104 .3

(B) (A)

(D) (C)

ìX LCM » 404 Zzg 96 .4

9694 (B) 9696 (A)

9494 (D) 9496 (C)

''''ìX = LCM (306,657) ìA$ HCF (306, 657) = 9 Z¤/ .5

33228 (B) 22338 (A)

33229 (D) 22339  (C)

.............. = Cosec600 .6

(B) (A)

1 (D) (C)
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............. = A �A$ Sin2A = 2SinA Z¤/ .7

300 (B) 00 (A)

600 (D) 450 (C)

.8

Sin600 (B) Cos600 (A)

Sin300 (D) tan600 (C)

ìA$ g(x) = x2-2 Zzg f(x) = 2x - 1 Z¤/ .9

1  (B) 0  (A)

2  (D) -1 (C)

.......... = A2 ìA$ Z¤/ .10

(B) (A)

(D) (C)

.11

 6 (B) 5 (A)

0 (D) 7 (C)

Å�g¥xÙXZ¤/ x,y,z .12

x=1, y=2 z=3 (B) x=-3, y=-2 z=4 (A)

x=0 y=0 z=2 (D) x=-3 y=-2 z=0 (C)

�VÏX Terms ÆaZ��z 1, -1, -3, -5, ........ .13

-7,9 (B) 7,9 (A)

-7, -9 (D) 7, -9 (C)
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....... = AUB ìA$ Z¤/ .14

B  (B) A  (A)

Zy~ÐÃð7 (D) (C)

............ = Sec (900 - A) .15

Cosec A (B) tan A (A)

Sin A (D) Cot A (C)

...........= tan480  tan230 tan420 tan670 .16

1 (B) 0 (A)

 3 (D) 2 (C)

.......... = 7C5
.17

11 (B) 10 (A)

100 (D) 21 (C)

.............. = Cos480 - Sin420 .18

1 (B) 0  (A)

3 (D) 2  (C)

Ð��D�A$''''qÝ�@*ìX x+2 Ã 2x2 + 3x+1 Z¤/ .19

-3 (B) 3 (A)

-1 (D) 1 (C)

6,�g�ÏX x=-1 Å P(x) = x2-3x-4 .20

1 (B) 2  (A)

0 (D) -1 (C)

ìX  2 Zzg 3 TÆ#»qÝ¦ZzgqÝ¢[!*nKM (Quadratic Polynomial) �z�gYMg0 .21

x+2 (B) x3+2 (A)

x2+3x+2 (D) x2+5 (C)

4

Polytechnic/E.T/2021



........... = A + B ìA$ tanA = CotB Z¤/ .22

300 (B) 00 (A)

900 (D) 450 (C)

............ = SecA (1-SinA) (SecA+tanA) .23

1 (B)  0 (A)

SinA (D) CosA (C)

........... = 9 sec2A - 9tan2A .24

2 (B) 0 (A)

18 (D) 9 (C)

�VÐZ¤/ Roots Æ�z',Z', ax2+bx+c=0 .25

b2 - 4ac > 0 (B) b2- 4ac = 0 (A)

b2-4ac=1 (D) b2-4ac < 0 (C)

ÆaiÙX (x,y) Ã x-y=4 Zzg x + y = 14 .26

(9,5) (B) (1,1) (A)

(0,0) (D) (5,9) (C)

¥xÙX d Zzg�u�Ût a ÆaªgÁ .27

(B) (A)

(D) (C)

Ð�zg~ìX (Origin) Å%�/ P(x,y) .28

x+y (B) x2+y2    (A)

x3+y3 (D) (C)
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.29

Cot2A (B) tan2A (A)

Sin2A (D) Sec2A (C)

............. = AT ìA$ Z¤/ .30

(B) (A)

(D) (C)

............ = f(-1) ìA$ f(x) = x2-2x-2 Z¤/ .31

-1 (B) 0 (A)

2 (D) 1 (C)

.32

(B) (A)

(D) (C)

....... = AB �A$ Zzg Z¤/ .33

(B) (A)

(D) (C)

ÅMg0'''''Mg0BCìX 2 �gz .34

�z�gY (B) é (A)

Zy~ÐÃð7 (D)
±�-
ö
E (C)
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........... = (SecA + tanA) (1-SinA) .35

SinA (B) CosA þ (A)

SecA (D) CosecA (C)

.......... = SinA ìA$ 15cot A=8 Z¤/ .36

(B) (A)

(D) (C)

x2-2x-8 Mg0Æ#¥xÙX .37

2,4 (B) -2,4 (A)

-2,-4 (D) 2,-4 (C)

............. = fog(x) ìA$ g(x)=3x2
Zzg f(x)=Cosx Z¤/ .38

Cosx2 (B) Cos3x2 (A)

0 (D) 3Cos2x (C)

....... = x ìA$ Z¤/ .39

90 (B) 100 (A)

70 (D) 80 (C)

...........= n ìA$ Z¤/ .40

10 (B) 8 (A)

11 (D) 12 (C)
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(Physics) �43�5é EGG]

¦/gg;ì? Charge ~H Wire �.$cìXÂ (Current) 3 mA~1 Minute ~Ð Wire Zq- .41

180x10-3C (B) 180 x 103C (A)

18C (D) 180C (C)

Ãé�,XÂM\Æ�ÐH TerminalÆ Battery 12 V �ZzgM\ 100000 (Resistance) Z¤/M\Æ�Å .42

¦/g}Ç? Current

1.2 A (B) 12 A (A)

12 x 105 A (D) 12 x 10-5A (C)

',¹¸{ÅZ»ðì: .43

 Coulomb (B) Volt (A)

 Farad (D) Ohms (C)

·�Åzzì Electric~ Conductor .44

 Neutrons (B) Positrons (A)

 Free Electrons (D) Positive Charge (C)

Å®Z�~Z��ÐZyÅgzÝÅ�]6,H�Ût7,@*ì? Bulbs §jÐ�h}� Series .45

¶�Cì (B) Z���@*ì (A)

Zy~ÐÃð7 (D) Ãð�Ût77,@* (C)

e.m.f. Zzg Electric Potential .46

�zZlZg,� (B) Zq-ÜlZg,�  (A)

�zâV (C) Zzg  (B) (D) Z� Units ZyÆ (C)

kH�YCì? �z Ã�zkH��ï�ÂÃyÏlZg Voltage~Circuit Z#ëZq- .47

 Power (B) Current (A)

Ãð�Ût7  (D) Resistance (C)

8

Polytechnic/E.T/2021



§jÐ�häÐ Parallel ìX »ù· Resistance Å Resistance §&Ð�h}��zZq-� Series .48

»ù·H�Ç? Resistance ZyÅ
(B) (A)

(D) (C)

¥x�zX (Focal Length) ìZk»âmîw 2 Diopter (Power) Å¤�Ü (Lens) °Ð .49

 50 cm (B) 5 cm (A)

1 cm (D) 2 cm (C)

Æ�zgZytp~7�CìX (Refraction) ZYs .50

îwñ` (B) ®� (A)

gëg (D) u] (C)

»ZEw�D�XYV? Radio Ü!*iÜY~Zq-�zu}Ð!*]�äÆa .51

Ð�̂Cì ÜY~¹!~ Sound Wave (B) ÜY~¹M×̂�Cì Sound Wave (A)

Á�Cì FrequencyÅ Sound Wave ÜY~ (D) ÜY~7̂�C Sound Wave (C)

M�yËsZzg8YVÃM@*ì? .52

âg»ZYs (B) âgÆZ[k (A)

Zy~ÐÃð7 (D) âgÆZ_OgÐ (C)

¯@*ì? Image 6,¾n» (Screen) Zh+ Cancave Lens .53

Virtual and Inverted (B) Real and Inverted (A)

 Virtual and Erect (D) Real and Erect (C)

k�ìz{''''�CìX Image~ Camera .54

 Virtual, Erect and Diminished (B) Real, Inverted and Small (A)

 Real, Inverted and Big Image (D) Virtual, Erect and Big Image (C)
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ÅMirror 6,k�ìX 5cm )Ms(Æú  Mirror Image 6,7,}�ñZq-�Å 10cm Æ�t Convex Mirror .55

H�Ï? Focul Length

-5 cm (B) -10 cm (A)

-0.05 cm (D) -0.5 cm (C)

¥xÙX Frequency �Pºù7ìX�wÅ�P.VÅ 72 Zq-eZËZq-4~�wÅ .56

10 Hz (B) 12 Hz (A)

 120 Hz (D) 1.2 Hz (C)

¯@*ì? Image �zgÆ�Å¾n» Converging Lens ZK̈ãMç» .57

 Real, Inverted, Diminished Image (B) Real, Erect, Equal to the size of object (A)

 Virtual, Inverted, Small Image (D)  Vitual, Erect, Diminished Image  (C)

Æ�gxãÃ,Ã(,J�c*YñÂZyÆ�gxy Charges Æ_.Z¤/�zZ Coulombs Inverse Square Law .58

6,HZW,7,}Ç? Force of Attraction

Á�YCì (B) (,fì (A)

¥x7ÅY$Ë (D) Ãðp~7MC (C)

ÆañizVì? Charges »�âyÁ Coulombs .59

w�'�D�ñ(,}egb% (B) aÆPoint Chargeñ w�'�D� (A)

Æa Charges �ÁZzg(,} (D) Æa Point Charges �Á (C)

�**7,@*ìXZy�zâV£â]Æ�gxy (Work) zgu 5J ÃZq-(Ð�zu~(YäÆa ChargeÆ10C Zq- .60

�Ç? Potential Difference

2 V (B) 0.5 V (A)

 10 V (D) 5 V (C)

Å�H�$Ëì? Mangetic Field ÆZ0+g Bar Magnet .61

Å§s NorthpoleÐSouthpole (B) Å§s SouthpoleÐNorthpole (A)

7�' Magnetic Field Lines (D) Å§s Side Ð�zu~ Side Zq- (C)
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ZEw�D�X Mirror t ENT Specialist .62

 Convex Mirror (B) Plane Mirror (A)

Zy~ÐÃð7  (D) Canvcave Mirror (C)

~ªCÙÙX Celsius Ã T = 24.57 K .63

248.580C (B) - 248.580C (A)

 -415.440C (D) 415.440C (C)

~]u�ZK̈ã�Å�Åeö�@*ìX Clinical Thermometer .64

J- 420CÐ350C (B) J- 1000CÐ700C (A)

J- 800FÐ 340F (D) J- 1000CÐ00F (C)

Z#0*ãZ�ìÂ: .65

(,kì Temperature _.[�CìZzg Heat (B) xgLì Temperature _.[�CìZzg Heat (A)

xgLì Temperature {g`�Cìp Heat (D) Á�@*ì Temperature {g`�CìZzg Heat (C)

Z»ðìX C.G.S Å (Heat Energy) wZgCÂZ**ð .66

 newton (B) Kelvin (A)

 dyne (D) callorie (C)

�Åu�Ïc*¤/òÆ�gzÃë�X .67

ÂZ**ð (B) wZg] (A)

Zy~ÐÃð7 (D) � (C)

J-�~Z��Æa�g»gwZg] 620CÐ 200C Å�J]Ã 6 kg Hì?Z¤/ (Specific Heat) �J]ÅºmwZg] .68

ìX 5 cal

0.198 cal/Kg0C (B) 198 Cal/Kg0C (A)

1.98 Cal/Kg0C (D) 19.8 Cal/Kg0C (C)
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6,m%kìX�Æfg=H�H»x''''ìX Platform »ziygÄ� 20kg Zq-�ZLu6, .69

98 J (B) 198 J (A)

Zero J (D) 49 J (C)

Z»ð''''ìX S.I ZuZqÅ .70

 m/s2 (B) m/s (A)

ms2 (D) m.s (C)

(Chemistry) 6Y

Hì? (Chemical Formula) »6ð�� Rust .71

FeO . 1/2
 H2O (B) Fe403 . xH2O (A)

Zy~ÐÃð7  (D) F203 . XH2O (C)

Æ�gxy�@*ì? 7Ð 0  pH~(Solution) ¾²w .72

(Bases) Z�k  (B) (Acid) F,Ú (A)

Zy~ÐÃð7 (D) (Neutral) ER,w  (C)

Hì? pH Value » (Solution) ²w 0.01 MHCl .73

+2 (B) -2 (A)

+3 (D) -3 (C)

H�Ï? Value Å X ìÂ 1S2 2S2 2P6 (Electronic Configuration) »Z9Zãú X++ .74

Mn (B) Mg (A)

Cu (D) Cd (C)

!*NÐ�ZNÅ§sH�Ç? Metallic Nature~ Periods .75

Decreasing (B) Increasing (A)

Zy~ÐÃð7 (D) Remain Same (C)

~ñ��ì? HCl (Bond) Zy~ÐÃy�È .76

(Non-Polar Bond) )ªÈ (B) (Polar Bond) ªÈ (A)

tX (D) (Ionic Bond) gzZãÈ (C)
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~ñ��5zÃ̂¾**xÐY��? Ore .77

(Slag) �JCé (B) (Flux) ¤/Zi0+{ (A)

(Gangue){ (D) (Corrosion) @*À (C)

»¬gs¾ä�zZc*? Elliptical orbit Concept ~Z9Zy» Atom .78

(Bohr) 1CÙ (B) (Sommerfeld) Î%ì (A)

(Lande) Å54/õ G

EH (D) (Planck) ö7- (C)

Hì? pH !*glÆ0*ã» .79

Less Than 5 (B) 5 (A)

Greater Than 5.6 (D) 5.6 (C)

ñ��ì? Triple Bond ~¾~ Molecules qgzfs .80

C2H2, N2 (B) CH4, Cl2 (A)

F2, O2 (D) NH3, C2H4 (C)

»**xC�X Chief ComponentÆ(Cooking Gas) 3**åäÅ� .81

(Methane)
$4-£4

è
G
G

GE (B) (Ethane)
#-£4

è

G
G

GE (A)

(Pentane) &454
è
F
E
H
GE (D) (Butane) ç� (C)

ÅúÒÏ�@*ìX General FormulaÆ Alkyne .82

CnH2n (B) CnH2n+2 (A)

CnHn (D) CnH2n-2 (C)

ÅúÒÏ�@*ì? Ketones Zy~ÐÃy .83

-OH (B)  - C = 0 (A)

- COOH (D) - CHO (C)

ì? Ore ¾» Haematite .84

Aluminium (B) Iron (A)

Tin (D) Copper (C)

¾ãC�6,ì? Mendeleev's Periodic Table .85

 (Atomic Number) �CÙ~°� (B) (Atomic Weight) �CÙ~ZziZy (A)

 (Atomic Volume) �CÙ~w (D) (Atomic Radius) �CÙ~Û¢ (C)
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qÝ�@*ì? MetalÐReaction uÃyÐ Metal Oxide .86

(Reduction) As (B) (Liquifaction) Zâ®) (A)

(Roasting) È' (D) (Oxidation) %** (C)

~�@*ì? (Liquid Form) âù Non-Metallic Element Ãy� .87

 Hydrogen (B) Carbon (A)

Phosphorus (D) Bromine (C)

ÃHë�? (Loss of Electron) Z9Zy»vy .88

(Oxidation)� (B) (Reduction) As (A)

Zy~ÐÃð7 (D) (Reduction or Oxidation) �c*As (C)

áCì?  Amino AcidÐ DecompositionÆ (Component) Æ¾ (Diet) ½Z .89

Starch (B) Carbohydrate (A)

 Fat (D) Protein (C)

Ãy�ì? (Strong Acid) Zy~Ð¤!gF,� .90

Nitric Acid (B) Acetic Acid (A)

Oxalic Acid (D) Citric Acid (C)

ìX Normality ñ��ìXZk²wÅ log H2SO4 ²w~ 100ml .91

2.04N (B) 4.04N (A)

3.04 N (D) 1.04N (C)

7ì? (Valence Electron) zZ¾Z9Zy 8 qgzfs~¾~ .92

Ne (B) He (A)

Cl- (D) Ar (C)

ì? Unsaturated Hydrocarbon qgzfs~Ãy .93

Butane (B) Acetylene (A)

Decane (D) Propane (C)

H�Ç? Atomic Size » Element ~!*NÐ�ZNÅ§s½6, Modern Periodic Table .94

Decrease (B) Increase (A)

Approach Zero (D) Remain Same (C)
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Å�gc*Ä¾äÅ? Proton .95

Goldstein (B) J. J. Thomson (A)

Einstein (D) Chadwick (C)

7ì? Green House Gas qgzfs~Ãy .96

H2O Vapour (B) CH4 (A)

Co (D) O3 (C)

ìX (Symbol) »´#Ö Argon .97

Ar (B) A (A)

Arg (D) Ag (C)

ìX (Acid) uÆ~ñ��F,� .98

C7H6O2 (B) CH3COOH (A)

CH2O2 (D) H2CO3 (C)

ìX (Acid) qgzfs~Ãy�$zgF,� .99

HCl (B) H2SO4 (A)

HNO3 (D) HCN (C)

ìX Semi Metal qgzfs~ .100

Chlorine (B) Aluminium (A)

Silicon (D) Sodium (C)

/// /
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Rough
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